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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
02846 

December, 2014 

(APPLICATION ORIENTED COURSE) 
ACC-1 : ORGANIZING CHILD CARE SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any other four 
questions. 

1. 	(a) Given below is a list of activities. For each, 	10 
state the area of development in which the 
activity primarily fosters development. The 
first one has been done for you as an 
example. 

Activity 	Area of development 

(eg.) Running Gross motor development 

(i) Hopping. 

(ii) Keeping blocks in ascending order. 

(iii) Following verbal instructions. 

(iv) Making facial gestures. 

(v) Crying. 

(vi) Doing colouring in the picture book. 

(vii) Greeting others. 
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(viii) Lifting heavy objects. 

(ix) Story-telling. 

(x) Thumb printing with different 

colours. 

(b) Write short notes (in 150 - 200 words each) 

on any two of the following : 	2x10=20 

(i) Nutrition and health programmes in 

our country. 

(ii) Organizing a trip of preschool 

children to the park or the post office. 

(iii) Desirable qualities and attributes of 

workers in a child care centre. 

(c) What are the factors that can influence 10 

language development in toddlers ? 

OR 

Giving examples, describe the socio-cultural 

influences that influence development of 

children. 

2. 	(a) What is the need for providing day 	5 

care/creche services ? 

(b) Define the term 'Child Labour'. 	 5 

(c) State what makes one child different from 	5 
the other. 
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3. (a) Explain sensori - motor period of 10 
development as described by Piaget. 

	

(b) Describe how toddlers begin to use words 	5 
to convey meaning. 

4. (a) List immunization schedule for the first year 	5 

of life. 
(b) How do the infant's sensory abilities aid in 10 

social interaction and help to form a bond 
with the caregivers ? Illustrate with 
examples. 

5. (a) Explain how would you organize indoor 	10 
space in the child care centre. 

	

(b) What is the need to maintain records in the 	5 
child care centre ? 

6. (a) What is the relevance of learning 	5 
experiences for the young children ? 

(b) Give five play activities around the 10 
theme - 'Shadows' that can be organized 
with preschool children. 

7. (a) What are the factors in the family that 	5 
promote aggression in the child ? 

(b) What are the negative effects of punishing 10 
the child frequently, especially physically ? 
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